Mathematics Class - XII

Topic : Continuity and
differentiability

Sub Topic : Continuity

Assignment : 1 (Objective questions)
Total Marks : 10
sin 7x

n
1). If f(x) = { 3x x # 0is continuous at x = 0 then value of m =?
m
a) 37 b 47 o) 7/4  d) 73
2). The f"f(x) = tan x is a discontinuous on set :
a) {nm, neZ} b) {2nm: nezZ} c) {(Zn + 1)%: nezZ }d) ["2—" neZ}

3).  Which one is discontinuous at any point:

1 ) 1

a) Sinx b) cosx c) = o

4). frfo= {I;i t 51.] i f g’ is continuous at x=5, then K =

a) 9/5 b) 4/5 c¢) 59 d)0
True/False:
5. The product of two continuous functions is continuous "
6). Every continuous function is differentiable.
7). If f(x) = [x] whether f(x) is continuous f™ at integral values.

Fill in the blanks:

8). If £(x) = |x| then f" is continuous at points.
9). |sinx| Is atx = m (discuss about continuity and differentiability)
10).  Every polynomial is function).
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Mathematics Class - Xl

Topic : Continuity and
Differentiability

Assignment : 2 (Objective questions)
Total Marks : 10

1).  If f(x) x =sinx?then f'(x) =-
a) 2xcosx? b) cosx? c)—cosx?  d)2 (cosx)?
2). Ify =tan (3x + 8);theny’ =
a)(3x+8)tanx b)3sec?(3x+8) c)tan(3x+8) d)0

- . ay _
3). Ify =cosVx; thenZ-=

12 py —SINVE a VX sin VX
a) (cosx) b) i c) 7r Cosx d) —
True False:
4). :x— (cns‘ (x%)) = —12cos® (x3) sin (x3) x?

2 4922 oy _ =X
5). fx?+y?=25 thendx =5

_ : , _ = cosect(yT)
6). y= YcotVx; theny S~
7). P2+ 1)P =207 + 20+ 1) (2x+2)
8) 2L cos(ta =
3 o C (tanx) =
= a? ) d_y_
9). If x + y = €7 then find ==
10). If x+2y= 3cosxthen%=
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Mathematics Class - Xl

Topic : Continuity and
Differentiability
Sub Topic : Exponential f" and

logarithmic f"
Assignment : 3 (Objective questions)
Total Marks : 10
1). If f(x) = a* (a € R*);x € R then domain of f (x):
a)D; =R b)D;=R* D =R—{0}) dD=0Q
2). y = (sinx) * then %
a) (sinx)* (x cotx + log(sinx)  b) (cosx)* (cotx + logcos x)
) x(sin x)*~! d) (sinx)* cosx

3).  -“log(log(x)) =

a) log (log(x)) b)i 1 ) logx

xlog x xlog(x) x
True False:

4). Logarithmic and exponential f™ are inverse of each other

PR
5. loge(1-x0)= —x-5- L% oo

6). (logab) (logpa) =1 TIF
7). %(xlogx—x):

= - ¢ dy _
8). Ify=cot~'(e*);then ==

d 3

9. g logio (x)=
10). ﬁ tan~*(sin"*(a)) =
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Mathematics Class - XII

Topic : Continuity and
Differentiation
Sub Topic : Logarithmic function and

inverse function
differentiation

Assignment : 4 (Objective questions)
Total Marks : 10

- 2 dy .
If y = (logx)* then ot

a) (logx)* [1 + logx] b)x(logx)’H c) (logx)*~!  d) None of these

d 8*

2 ww
- P 8 8%logs 8%+

a)x 8¥°1 b)i—“ (log8 - ;) c)—;:f—-v = d) None of these
True/False:
3). If the f™ is having a variable in the exponentials then differentiation can be

done by taking log .

d a*_ _»
4). &= ¢ loga
5). Ify = x* + x*+a*+a® then% =x* (1+logx) + ax® ' + a*loga

- &y L&
6). Iy =(1+x) then 2= (1+x)* [Z-+log(1 + )
2 4 g 4y
7). If x = 2at? & y = at* then find ey
8 RIS PEIE S S
) e=l T Ty

4 an-lx=—1

9). otanTix =g
— 2t — psin2t dy vy logx

10). Ifx = e@s2t &y = e*'"* then 2 'z oy 0
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Mathematics Class - XII

Topic : Continuity and
Differentiability
Sub Topic : Inverse Trigonometric

Function Differentiation

Assignment: 5 (Objective questions)
Total Marks : 10

1). 1=t (sin (cos ) :
a)-1 b) 1 c) cosx d) sinx
2). Derivative of tan™! (cot(3m — 2x)) w.r.t. x
1
a)3m b)2 A= d) 0
4 cin-1 -1
3). o (sin™'x + cos™'x)
a)sinx b)0o c) cosx d) sin(x +y)
a -1 d (sin"'y)
4). > (sec™'x) + >
); b);+; C);+; d)o
a Vi-xZ lxW1=x% Jy?-1 |xVxZ=1 J1-yZ
A (psinix
5. e
1 gcosTix -1 gsinTlx 1 esinTlx
a) VitxZ b) Vi-x? C) Vi-x? d) 0
6). % = e siftan' (X +y?) =a
= =it 2% L R —
7). Ify =cos ™ =5 e
8). Ify=tan! (e¥) then%= --------------
True/False:
- -1 dy _ -1 —1
9). Ify =xsec™ x then Fogdr=ry + sec™(x)

10.) (ﬁtun“ x) is always greater than 0.
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Mathematics Class - Xl

Topic : Continuity and
Differentiability

Sub Topic : Derivative of 2" Order

Assignment : 6 (Objective questions)
Total Marks : 10

1).  Ify =logx,: then %=
a)> b) % 0> d

2. lfy=9x; y,5)=
a)18 b) 18x c) 90 d) 0
2

3). :Z—: if y = xcosx

a)xcosx + 2sinx b)—xcosx —2sinx c)xsinx + 2cosx
d) —xsinx — 2cosx

4).  If =tan"'x;theny" =
1 -2x 2 2
AT Vo e Vawr
True/False:
_ pxsinx. 4%y _ xsinx (-xsinx+2cosx
5). Ify = e*¥%; then == e*510% (+(xms x#sin x))
6). Second order derivative of x2% is 20x?

Fillin the blanks:

7). ify =cosix then £ (in terms of y) = e
8). y=a*+x%theny" =-mrmemeeen
= 3x3 2 ey _
9). y=3x3+6x*+6x+3 ==
£y

10). y =a(sinx) + a (cosx) then (in terms of y)= —-—--mrreee -

dx?
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ANSWER KEY

ASSIGNMENT 1
1.d 2. ¢ 3.c 4a 5T 6.F 7.F 8 Al 9. Continuous

10. Continuous

ASSIGNMENT 2

1.a 2.b 3. b 4T 5T 6. F 7. T 8. —sin(tanx).sec’x

ASSIGNMENT 3

1. a 2a 3.¢c 4 T5T 6T 7 logx 8 = 9.2

1+e2%

1 a*loga
1 g

0. T+(sin(a%))? " Vi-aZ®

ASSIGNMENT 4
1. d 2b 3T 4T 5T 6T 7. ¢t2 8T 9T
10. T

ASSIGNMENT 5

f.a 2b 3.b 4c 5c 6-% 7.2 <

. 8 —
1+x2 1+e2¥

9. F 10.T
ASSIGNMENT 6

1.b 2.a 3.b 4b 5 T 6.F 7. —cotycsc’y

8. a*(loga)* + (a* —a)x*%? 9. 18x+12 10. -y
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